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® Features ’ M
Ri=4.7k0} %
1) Two transistors are housed in the 1
same volume as SMT (SC-59). 7
2) The automatic mounting machine IMD
of SMT can be used for mounting.

3) No mutual interterence exists be-
tween each transistor.
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The following characteristics are common for Try, Trz. However, a minus sign for Tr, PNP transistor is ommited.

® HI B AT,/ Absolute Maximum Ratings { Ta=257C)

Unit

Parameter Symbol Limits

AL T4« X—-ZAWEE Vceo 50 v
ALY - TSy RMEBE Vceo 50 v
I3y% . N—AMEE Veso 5 v
LY 2R 7 le 100 mA
avy sk Pc 300 (TOTAL)™ mw
REBIRE Tj 125 ‘c
RIFRE R Tstg —~55~125 c

¥ LEL, 1HRTFHI200mWEZ ALKV &,/ However, 200mW should not be exceeded per element.

® B RY4$E /Electrical Characteristics ( Ta=25C) -

Parameter Symbol Min. Typ. Max. Unit Conditions
AT 4« L3y 4RBIREE BVceo | 50 - - v lo=1mA
JL Y5« N—Z2BREE BVecpo | 50 - - lc=50pA
L3y% « N~ ARKBE BVeso | 6 | — | — | v | te=50uA
ALY 4 Lo liEH Icao - | — | 058 | Al veg=a0v
I3y ¥ LeHER leBO - - 05 uA-| Vgg=4V
ERTES heg 100 | 250 | 600 | — | Vog/lo=5V/1mA
ALY H - T3y AEHEE Vorsay | — ~ | 03 | v | io/la=6mA/0.25mA
ADIER R{ - | a7 | = | ke -
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AMBIENT TEMPERATURE: Tal°C)
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